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NOTE : Scction-A'is compdlsory. All parts of this section to be answered on the questions paper itself. It

Section “A”

Time : 20 Mins,

should be completed in the given time and handed over to the Centre Superintendent. Deleting /
Overwriting is not allowed. Do not use lead pencil.

Q.1
i

i)

i)

v)

vi)

Vi)

viil)

RY
Xi}
Xii)
Xiii)
i)

XV}

xvi)
xvif}
Xviii)
xii()

XX)

T2
. The matrix [ iscalled ...oocovviiivniniiiin matrix.

f 0 ;
{a)  Diagonal (b) Scalar () Row (d)
The mid-point of the vectors (1, 2, 3) and (-1, =2, =3} I5 ...ovvrrivirennins

) -1 -9

@ (e B 000 @ (32 e
If in a square matrix A, A = —A, then the matrix Ais called .........oveirvnnnn matrix.
(a) H§ymmetric {b}  Singular (c)  Skew symmetric (d)

The AB vector having the points A(-4, 6} and B(6, 8) then AB =

(@) 10i+2] _ by 10i-2 (¢} 2i+10j (d)
If a is any vector, then the unit vectorré H e
@ alal o = ) Ll (dy
lal a

. .
D2 =3) = e ,
x=i .
@ 7 (b) 8 € 9 (d)
The general term of the Arithmetic sequenceisan=........4.....
(a) at(n-1)d (b} at(nti)d (c) arn*! )

IS 80 = vovirrininninrinin
@) a(%——'r—) ) 'a.(r : ‘) NCER @)
How many different words can be formed from the letter “ABBAS™? )
() 30 by 40 {c) 60 (d)
If two events can not both occurs at the same time, they are called ....................
(@ Simple {b) Equallylikely () Compound (d)
The magnitude of the vector a=3i—j—k i.................
(@ V13 0 Vi © V3 (@
If f{=x) = ~f{x), then the function fis called ................... function.
{a) Anodd (b)  Aneven {c)  Anidentity (d)
C08(27 = 0) = i o i
(a)  —cos@ . by  —sind (¢)  cos0 {d)
if none of the angle of a lriangle is right angle, then the triangle is called .............
(a) Single (b}  Scalene (c)  Oblique (d)
The general term of the binomial expression {a + by is Te1 = oo
(a) (“}a b (b) (nJa""b' e (r)a""b“ ()
T ' r n
1287 0= oveiensriran
(@) " cos20 (b)  sin20 (c) 2cos20 (d)
A function has an inverse if and only ifitss ............ e
(a) 1-1 (by Onto { *~1 and onto (d)
In a right angled triangle one angleis .........c.coee e .
(a) 270° (b) . 180° {c} 120° {d),
2 istheperiod of ..o, e :
(@)  cosecO (b}  cotd {c) secO (d)
Reat part of the complex number of the form (X = iy)2 18 ..o
(@ -y b) Xy ) *® {d)

NOTE : Insert the correct option (a, b, ¢, d) in the emipty box opposite to each part.
Insert the corract option {a, b, ¢, d} in the empty box opposite to each part. Each part carries one mark.
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For a geometric sequence with first term a, and commaon ratio r = 1, then the sum of the first i term’
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Q.2 Write sho'rt answers of any TEN of the following part-s.- Each part carries equal
marks, , 7
() Express L++3i i(_\rtcrm of polar co-ordinates,
(i) Let §={0.1,2,3,4}, diaw the fable which define a binary operation addition
modulo 5. ' |

# (i) Find the remainder if S(x)=x*—4x? + 2% is divided by x - 3,

2
(iv)  Decompose mto partial 1mcuon ——--—-i— ' ] \
O =D ~1)? _ S :
(V) Prove that CI'=C", .
(vi) - Provethat 1* +22 432 ... n? =n—(}ﬁ%}—1ﬂ
. i .
(vii)  Prove that (Sec.? - tan 9)- L= 5nd
I+ Shd : '
(viii}  Sum the mlmlte serics ]+/ /6+ 1/() ...... s

Cos75° —i(ml‘?o o

ix
(ix) .Sm75 - Sinls

| 243
3 -9 z
x) Find the first three telms oftlu, G.P when, g, = A and a, = T
(xi)  Adieis lhrown What is lhe plubablllty toget even'number.,
(xily ~ For triangle ABC ifa=7,b=5, ¢ =4. Find yii

©{xiii)  Verify that tan ’.(A)Han”‘(lu)r-z

Section — C Marks : 30
NOTE : Attempt any THREFE questions. Each questwn carrics cqu.ll marks.
Q.3 w If o, /3 are the roots of the equation - nm + nx+n=0thén prove that
S
®) b) Find the cocfficient of x*in the expimsion of ( T ).(.
, o ’ ‘ A
Q.4 ) Use Cramer’s rule to solve
' X=2y+4=0
X+ p+5=0
2x+z4+i=0
b) Show that Sin3 oc= 38in oo ~48in’ «
Q.5 ) Show by mathematical induction (hat %" - s un integer.

4 -
D) Find®Ss IFSs = 175 ayy = 49, '

Q.6 w) Solve the cquation  2x? Mv—IS + /257 3%+ +1 =32

b) IFCot@ =-1 When ~ A <8< A find the olher corresponding
trigonometric ratjos,



